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Inthefollowingquestion,thefirstwordisgivenincapitallettersfollowedbyfouralternative
words.Selectfrom thealternativesthewordnearestinmeaningtothewordgivenincapital
letters.

1.PANDEMONIUM
a)Clarity
b)Confusion
c)Glee
d)Casual

Inthefollowingquestion,thefirstwordisgivenincapitallettersfollowedbyfourother
words,oneofwhichistheantonym ofthefirstword.Findtheword.

2.PHLEGMATIC
a)Frigid
b)Emotional
c)Indifferent
d)Apathetic

Thefollowingsentencescanbereplacedwithonewordfrom theoptionsgivenbelowthem.
Choosethecorrectwordandmarkasyouranswer.

3. Aninstrumenttomeasurebloodpressure
a)Thermometer
b)Barometer
c)Sphygmomanometer
d)Manometer

4. Theartofwriting
a)Cartography
b)Polygraphy
c)Holography
d)Calligraphy

5. Anorganism livingonanother
a)Symbiotic
b)Predator
c)Parasite
d)Asymptote

Choosetheoptionthatcompletesthesentencemostmeaningfullyandappropriately.
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6. ForthesmoothfunctioningofParliament,itisnecessarythatthepolitical__________is
ended.
a)Solution
b)Debate
c)Deadlock
d)Agreement

7. India’smacro-economicvariablesarequitestableandthereisnoimminentdangerofa
meltdownbecauseoftheGreekeconomic__________.
a)Supple
b)Dribble
c)Cripple
d)Ripple

8. Thecompanyisexpectedtoseea__________ininterestinitscarsbecauseofthescandal.
a)Spot
b)Rise
c)Drop
d)Lot

9. The12countriesAustralia,Brunei,Canada,Chile,Japan,Malaysia,Mexico,NewZealand,
Peru,Singapore,theUSandVietnam __________40percentoftheglobaleconomy.

Therearefourdifferentwordsoutofwhichoneiscorrectlyspelled.Findthecorrectly
spelledword.

10.(a)Idiosyncrasy
(b)Idiosyncracy
(c)Idioisyncrasy
(d)Ideosyncrasy

11.(a)Pavvilion
(b)Pavellion
(c)Pavillion
(d)Pavilion

12.(a)Humorresque
(b)Humoresque
(c)Humoresquie
(d)Humuoresque

13. Whichofthefollowingspellingsiscorrect?
a)Diarrea
b)Diarhea
c)Diarrhea
d)diarrhoea

Inthefollowingquestionseachsentencehasanunderlinedpartthatcanbeimprovedby
replacingthepartwithoneamongthefouroptionsgivenbelow.Choosethecorrectoption
andifyouthinknoimprovementscanbemade,thenselect(d)asyouranswer.
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14.Mycaretakeraskedmewhen wouldI haveaglassofmilk.
a)Iwill
b)Ishall
c)Iwould
d)Nocorrectionrequired

15.Trytobemanipulativewhenyourefuseanyproposal, sofarnot tocausebadfeelings.
a)Soasnot
b)Asfarnot
c)Sincethennot
d)Ifasfarnot

16.Therobbers brokein Mr.Gandhi’shouselastnight.
a)Brokeopen
b)Brokethrough
c)Brokeinto
d)Brokeonto

17.Onseeingtheghosthefelt toomuch afraid.
a)Excessivelymuch
b)Verymuch
c)Much
d)Noimprovement

18.Thevariousrulesandregulationsforonlinestocktrading arelaiddown bytheSecurities
andExchangeBoardofIndia.
a)Areleddown
b)Arelaidup
c)Havebeenlaydown
d)Nocorrectionrequired

Thefollowingsentenceshaveacertainphraseunderlinedinbold.Choosethecorrectphrase
from theoptionsgivenbelowtoreplacethehighlightedphraseandmakeitgrammatically
correct.Ignorepunctuationerrorsifany.

19.Thepaintingsinthemuseum,offers aneyeview ofthelayoutsoftheworld’sancient
cities.
a)abigeyeview
b)ananimal’seyeview
c)abird'seyeview
d)Noneoftheabove

20.Shelostherjobforplaying fortsandtunnels withthefundsoftheorganisation.
a)HideandSeek
b)DucksandDrakes
c)CraftsandStories
d)Noneoftheabove

Readthefollowingpassagecarefullyandanswerthequestionsthatfollow:
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IfoneweretogobytheMeteorologicalDepartment’slatestmonsoonforecast,rainfall
deficitinthecountryhaswidenedto10percentasaresultofthestrengtheningElNino,a
cyclicalweatherpatterntriggeredbythewarmingofoceans.ElNino-2015,saidtobethe
strongestsince1997,isexpectedtolastwellinto2016.ThismeansthatIndiacouldbe
headingtowardsitsfirstmajordroughtinsixyears.Thoughagricultureaccountsforonly15
percentofourgrossdomesticproduct,nearlythree-fifthsofourpopulationdependsonit
forsurvival.Thesectorisalreadyunderstressascontinuingfarmersuicidespainfullyinform
us.Adroughtnowwillbecalamitous.

TheportentshavealreadybecomealarminginKarnataka,Telangana,AndhraPradesh,
MaharashtraandBihar.ImmediateactionbytheCentreandStategovernmentsisnecessary
tohelpthefarmingcommunity.Sincemorethanhalfthefarmlandinthecountrylacks
properirrigationfacilities,itistheJune-Septemberrainfallthatmainlydecidesafarmer’s
annualincome.Whilereliefshouldbethetoppriority,concertedeffortsarealsoneededto
ensurethatdroughtdoesnotspurinflation.Stateagenciesshouldtakestepstomake
essentialcommoditiesavailabletotheAam Aadmiatreasonablepricesanddrivesagainst
black-marketersandhoardersmustbepromptanddrastic.

These,vitalastheyare,canatbestbeonlyshort-term measures.Long-term actionplanto
modernizeagriculturemustbeseenasanationalpriority.Recentreportsbyeminent
scientistshavewarnedof‘monsoondroughts’inthenextfewdecadesduetothechanging
climaticconditions.Successivegovernmentsin Indiahavefailed to addressproblems
arisingfrom theoverwhelmingdependenceofagricultureonmonsoons.Thesearebasic
issuesofsurvivalandyet,inourover-politicizedcountry,governmentsrefusetolookbeyond
the nextelection.This mustchange.Understanding how rivers can be leveraged for
agriculture,formovementofgoods,fortourism isanessentialfirststep.Extensiveuseof
technologyisjustasimportant.ThegovernmenthaschangedthenameoftheMinistryof
Agriculture.Thatcosmeticimprovementwillbeineffectiveifitisnotfollowedupwithan
integratedpolicyapproachtoagriculture.

21. Accordingtothepassage,whatistherelationbetweenIndia’spopulation’sdependency
onagricultureandagriculturesectorscontributiontoIndia’sGDP?
a)PositiveRelationship
b)NegativeRelationship
c)Bothareneutraltoeachother
d)Noneoftheabove

22. Whatis‘ElNino’causingaspertheauthorofthepassage?
a)Floodsbythewarmingofoceans.
b)Cyclonesbythewarmingofoceans.
c)RainDeficitbythewarmingofoceans.
d)Earthquakesbythewarmingofoceans.

23. Accordingtotheauthorofthepassage,whatmeasuresshouldbetakentocurbthe
inflationsituationafterdrought?
a)Increasethepricesofessentialcommodities.
b)Decreasethepricesofessentialcommodities.
c)Arresttheblack-marketersandhoarders.
d)Promoteblack-marketingandhoarding.

24. Whatdoestheword‘Portent’meansinthepassage?
a)Signs



GEORGESCHOOLOFCOMPETITIVEEXAMS/MISCELLANEOUS
TEST

5

b)Advices
c)Lessons
d)Threats

25. Theauthorofthepassagehasreferredtowhichthingasacosmeticimprovement?
a)Extensiveuseoftechnologyinagriculture.
b)MinistryofAgriculturechangingitsname.
c)Followingintegratedpolicyapproachtowardsmodernisationofagriculture.
d)Governmenttakingmeasureagainstcopingwithdroughtsituation.

Inthefollowingquestions,somepartofthesentencemayhaveerrors.Findoutwhichpart
ofthesentencehasanerrorandselecttheappropriateoption.Ifasentenceisfreefrom
error,select‘Noerror’

26.Thelandlordmadetheboys(1)/todothegarden(2)/makeoveralloveragain.(3)/No
error(4).

27.Myparentsaskedme(1)/thathowlong(2)/Iwouldstaythere.(3)/Noerror(4).

28.Asachef(1)/Kajalisasgood(2)/,ifnotbetterthanMahender.(3)/Noerror(4).

29.Ilaughedon(1)/herasshefelloffthe(2)/treeandgotinjured.(3)/Noerror(4).

30.Jyotiissoobstinate(1)/thatnoonecan(2)/altarherviews.(3)/Noerror(4).

31.TheGovernmenthasdeclared(1)/thatitwilllaunchathree-croresrupeesproject(2)/
withinthenextfewdays.(3)/Noerror(4)

32.Indiahasneverattackedonanycountry,(1)/norhasitevercovetedanyone’sterritory
but(2)/madesupremesacrificefightingforothers.(3)/Noerror(4)

33.Itwasinthebasisofthenewconstitutionthat(1)/theCommitteeofAdministrators
(CoA)andtheElectoralOfficer(2)/conductedtheBCCIelectionsonOctober23.(3)/No
error(4)

34.Thestudentscared(1)/alittleaboutthe(2)/consequencesoftheirprotest.(3)/No
error(4)

35.Unlesswedonotpaysystematicattention(1)/tothedatainfrastructure,wearelikelyto
have(2)/thenationaldiscoursehijackedbypoorqualitydata.(3)/NoError(4)

Choosetheoptionthatcompletesthesentencemostmeaningfullyandappropriately.

36.Candidateshave          usingmalpracticesintheexaminationbecausethey
knowthesecanbe          .

(a)Resortedto;challenged
(b)Planned;proved
(c)started;dangerous
(d)Stopped;detected
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37.Crocodilecanliveeffortlesslyboth          waterand          land.

(a)In;on
(b)With;over
(c)Without;the
(d)Inside;above

38.Thoughtheprogrammewas          scheduledforsevendays,itwaslater    
      tofourdays

(a)Finally;decided
(b)originally;curtailed
(c)Ultimately;made
(d)Formerly;declared

Fillintheblankswithproperalternatives.

Accordingtosociologists, 1 gainsinmanywayswhenthegovernment 2 sportsandgames 3:
provides playgrounds; the necessary equipment and other facilities; rewards
outstanding 4 soastoencourageothersalsoto 5 games.Thecrime 6 dips,whichmeans
thatthe 7 ofgeneralcrimesdecreases 8 therightspiritandtherightapproachtothingsis
developedonthe 9.Sport,ithasbeensaid,isnotonlyamanifestationofanimalenergyof
surplusstrengthtodevelopmorestrength;itis,inaddition,a 10 andwholesomeoutletfor
theaggressivespiritinhumanbeings.

39.a)    country
b)    society
c)    government
d)    state

40.a)    encourage
b)    plays
c)    conducts
d)    avoids

41.a)    Invillages
b)    Intowns
c)    Instadium
d)    everywhere

42.a)    umpires
b)    sportsman
c)    leaders
d)    people

43.a)    see
b)    watch
c)    conduct
d)    play
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44.a)    detective
b)    branch
c)    graph
d)    investigation

45.a)    incidence
b)    increase
c)    interest
d)    introduction
46.a)    unless
b)    because
c)    yet
d)    however

47.a)    warfield
b)    school
c)    playground
d)    college

48..a)    safe
b)    clever
c)    satisfying
d)    good

Inthefollowingquestionseachsentencehasanunderlinedpartthatcanbeimprovedby
replacingthepartwithoneamongthefouroptionsgivenbelow.Choosethecorrectoption
andifyouthinknoimprovementscanbemade,thenselect(d)asyouranswer.

49.Themainpoint ofherspeech waswellunderstood.
a)Thatshespoke
b)Madewhenshespoke
c)Madebyherspeech
d)Noimprovement

50.Potatoesare deadcheap thesedays.
a)DeadlyCheap
b)DirtCheap
c)DustCheap
d)Noimprovement


